
i) Είναι: 

x2 > x  x2 – x > 0 

Το τριώνυμο  x2 – x  έχει ρίζες τις: 

x2 – x = 0  x(x – 1) = 0  

 (x = 0  ή  x = 1) 

       Το πρόσημο του τριωνύμου φαίνεται στον παρακάτω πίνακα. 

 x –        0               1          +  

 x2 – x + – +  

Επομένως ισχύει: 

x2 – x > 0  (x < 0  ή  x > 1)  

 x(– ∞, 0)(1, +∞) 

β) i) • 0 < 1 

     • 1 < α 
α>0
⇔  √1 < √α  1 < √α 

     • 1 < α  
α>0
⇔  α < α2 

α>0
⇔   √α < √α2  √α < α 

      • 1 < α 
α>0
⇔  1 ∙ α < α ∙ α  α < α2 

Τελικά:  

0 < 1 < √α < α < α2 

 

 

ii) Ισχύει ότι: 

• α > 1  α ∙ α > 1 ∙ α  α2 > α  α2 + α > α + α  α2 + α > 2α  
α2+α

2
 > α 

• α > 1  α ∙ α > 1 ∙ α  α2 > α  α2 + α2 > α + α2  2α2 > α + α2  α2 > 
α2+α

2
 

Τελικά: 

α < 
α2+α

2
 < α2 
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